Joker

MACHINE

18-UP SOFTAIL RIDER FOOTPEGS

For technical support contact Joker Machine

2245 Kiowa Blvd N. Ste. 100, Lake Havasu City, AZ 86403
PHONE: 909-596-9690, FAX: 909-596-9693
sales@jokermachine.com, www.jokermachine.com

NOTE: USE MEDIUM THREAD LOCKER ON ALL
HARDWARE

DISCLAIMER: Joker Machine denies any responsibility for
any issues that may be caused from failure to use liquid

Assembled
thread locker on all hardware listed below s

TOOLS NEEDED

* 5/16 12 Point Wrench

* 1/8 Allen Key/Driver

¢ Medium Thread Locker (Loctite)
* Retaining Ring Pliers

Installation is easier in some cases if you remove the
footpeg from mount first.

1. Remove stock footpegs with retaining ring pliers.

Lock Screw

2. Install Joker Machine footpegs with stock pin, spring and retaining ring.

NOTE: There is a spring lock hole on Joker Machine peg mount.
HD FOOTPEG PIN

3. Loosen 1/4” set screws found on the bottom of some footpegs,
and 5/16” 12 point screw. This will allow you to adjust the peg.

4. Adjust footpeg to desired position and firmly tighten down 5/16” 12
point screw or 1/4” set screws.

5/16 12 POINT _A:

RETAINING RING
18-UP FOOTPEG MOUNT
SERRATED WASHER

D
é 1/4 SET SCREWS 180511-D  9/1/2022




